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1. About the International Standards on Sustainability Assurance (ISSA) 5000, how many of the following statements is/are
true? _
(i) Unlike ISA 2060 (or ISAs in general), ISSA 5000 deals with both limited and reasonable assurance engagements.
(ii) A CPA firm applying ISSA 5000 in an engagement is not required to comply with ISQMs.
(1ii) ISSA 5000 considers “consistency” as an assertion relevant to sustainability assurance.
(iv) A practitioner applying ISSA 5000 in an engagement is not required to apply ISAE 3000 at the same time.

Zero.
One,
Two.
Three.
Four.
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2. How many of the following assurance standards specifically require(s) the practitioner to include in the assurance report a
statement (when applicable) about the “inherent limitations” or “inherent uncertainty” about the measurement of the
underlying subject matters against the applicable criteria?

(i) ISA.700 (or ISAs in general). - . (ii)- ISRE 2410 Review of Interim Financial Information.
(iii) ISSA 5000. (iv) ISAE 3410 Assurance Engagements on Greenhouse Gas Statements.

Zero.
One.
Two.
Three.
Four.
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3. Under how many of the following scenarios would the auditor’s liabilities in a review of interim financial information the
same as his/her liabilities in an audit of the annual financial statements?
(i) The interim financial statements cover the busy season of the client.
(ii) Almost all business activities of the year are from the period covered by the interim financial statements.
(iii) There is an acquisition of another company during the year and the acquisition occurred in the period covered by the
interim financial statements. '
(iv) The annual financial statements contain material misstatements, which were based on fraud occurred in the period
covered by the interim financial statements.

Zero.
One.
Two.
Three.
Four.
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When the assessment of the risk of material misstatements is below the acceptably low level, how many of the following
procedures is the auditor still required to perform?

(i) Tests of details of material account balances. (i) Tests of controls over significant risks.
(iii) Tests of the integrity of the entity’s data. (iv) Tests of the effectiveness of internal audit function.

Zero.
One.
Two.
Three.
Four.
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How many of the following services are prohibited for a firm performing audit for a public interest entity?
(1) Providing tax calculation services of current tax liabilities.

(if) Taking custody of client assets.

(iii) Providing valuation services of valuing a potential acquisition target company.

(iv) Providing audit services if the total fees from the client have represented more than 15% of the total fees received by
the firm each year for the past five years.

Zero,
One.
Two.
Three.
Four.
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To test the completeness of accounts receivable for an entity using perpetual inventory, how many of the following audit
procedures would provide the auditor with sufficient appropriate evidence?

(i) Attending the physical inventory counting, (i1) Inquiring the management about the entity’s related parties.
(iii) Performing a walk-through of the shipping and sales journal recording process.

(iv) Analyzing the time trend of receivable turnover.

Zero.
Cne.
Two.
Three,
Four.
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Assume that AWS is a service organization that provides cloud computing and other cloud-based services, such as data
storage. Dovetail Ltd. uses AWS to store, process, and analyze the entity’s global sales data, Dovetail has a fiscal year
ended at 12/31. The auditor of Dovetail obtains a report from AWS on the controls at AWS. For the auditor to use the
report as audit evidence that the controls at AWS are operating effectively, how many pieces of the foliowing information
must be contained in the report?

(1) A description of the AWS control environment,

(if) A reporting period for the 12 months ended 12/31.

(iii) The report was audited in accordance with ISAE 3402 Assurance Reports on Controls at a Service Organization.

(iv) The report was audited by an independent third party.

A. Zero.
B. One.
C. Two.
D. Three.

E. Four. % ;k E‘




% - 269 ALERKE 114 SERRLHRLNRBM

#8

o 3L 2 AW : 269

L ESTR # 10 A=K 3 X

8.

How many of the following tasks does the auditor need to determine a level of materiality to accomplish?

(i) Determining the acceptable level of audit risk.

(ii) Determining key audit matters (from matters communicated with those charged with governance).

(iii} Determining whether or not to refer to a component auditor in the auditor’s report on the group financial statements.
(iv) Determining whether any of the assessed risks of material misstatements is a significant risk.

A. Zero.
B. One.
C. Two.
D. Three,
E. Four.
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For an entity applying IFRS S1 and S2 in reporting sustainability-related financial disclosures, how should the auditor
consider the implications of the entity’s sustainability disclosures for its financial statements?

A. Any information material enough to be disclosed in the sustainability report is also material for financial statements.

B. Ifthe entity discloses a plan to replace high carbon emission equipment with low carbon alternatives, the auditor
should understand the adjustments to management’s depreciation estimates.

C. As an entity may report sustainability-related financial disclosures only for one of its subsidiaries, the sustainability
report does not necessarily have any implication for the entity’s consolidated financial statements. o

D. If the entity has effective internal control over its sustainability disclosures, the auditor should assess control risk as
low in the audit of financial statements.

E. As the sustainability-related opportunities and risks are forward looking, they should not impact financial statements,
which reflect historical data.

An entity’s management and ownership are separated. The user of the entity’s financial statements is the owner. When the
entity’s sole owner replaces the chief executive officer to manage the company, how would the change most likely affect
the audit of the entity’s financial statements?

The acceptable level of audit risk would be higher.

The level of materiality should be reduced.

The auditor should expand the tests of controls.

The risk of fraudulent financial reporting would increase.

mo oW

The audit would increase the user’s confidence on the financial statements to a greater extent.

Contrast ISA 220 requirements on quality management for an audit to ISQM 1 requirements on quality management for an
accounting firm. How does ISA 220 differ from ISQM 1? ISQM 1 requires the firm but ISA 220 does not require the
engagement partner to:

emphasize the firm’s culture.

make judgment on whether to accept or continue a client relationship.

make sure the human resources are appropriate and sufficient.

determine that consultation conclusions agreed with the party consulted have been implemented.

review the audit work,
V-
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/// Begin of Super Micro Case ///

Super Micro Computer, Inc. (Super Micro) is a leader in high-performance server technology and green computing. On
November 15, 2024, the Wall Street Journal (WSJ) posted a report titled “Is Anyone Crazy Enough to Audit Super Micro
Computer?” In the report, WSJ explains that Super Micro was fined by the regulator for accounting improprieties for fiscal
2015 to 2017. Deloitte & Touche (Deloitte) was the auditor for Super Micro during that period and continued to be the anditor
until fiscal 2023. Emst & Young (EY) replaced Deloitte in early 2024 but resigned before completing the audit. EY said in its

Ies

ignation letter that it no longer could rely on representations by Super Micro’s management or audit committee. Before

EY’s resignation, a former Super Micro employee filed a lawsuit, alleging that the company prematurely recognized revenues
from fiscal 2020 to 2022.

Assume that the auditor of Super Micro Computer applies the international standards on audit and the international code of
ethics to answer the following two questions.

12.

13.

Which of the following about the audit for Super Micro is most likely fatse?

The former employee’s lawsuit is a subsequent event for Deloiite.
EY’s reason for resignation suggests that it believed there is a high risk of fraud.
For any auditor considering an audit engagement with Super Micro, the preconditions of an audit are present.

For any auditor considering an audit engagement with Super Micro, it is required to communicate with Deloitte and
EY. '

E. EY’s resignation letter suggests that the management of Super Micro imposed a limitation on the scope of the audit.

Sowy»

Before the accounting issues emerged, Super Micro’s stock had been on a significant rise, driven by the excitement
surrounding artificial intelligence advancements. EY’s resignation caused its stock to tumble. In response, Super Micro
appointed a special committee of directors, which concluded after an internal investi gation that the audit committee had
acted independently and that there was no evidence of fraud or misconduct by the management or board. Against this
backdrop, BDO accepted the audit engagement with Super Micro by the end of 2024. Which of the following would be the
most inappropriate about BDO’s audit planning and audit strategy?

Assessing control risk as low.

Assessing business risk as medium to high.

Making arrangement with E'Y and Deloitte to review their working papers.

Considering the risk of material misstatements for revenue a significant risk despite the fact that Deloitte listed only
inventories as critical audit matter in its report on fiscal 2023 financial statements.

E. Obtaining evidence on the cutoff of sales revenue for the prior year (i.e., fiscal 2023).

SN w>»

/{/ End of Super Micro Case ///
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15.

16

17.
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Companies are using advanced technology to manage inventories. For example, egg producers are using artificial
intelligence (AI) to count eggs and retailers are using Al to identify which customer took which items out of the store. Ina
financial statement audit of an entity using AI to maintain inventory perpetually, which of the following procedures would
provide the least sufficient appropriate evidence?

A. Testing the completeness of system generated reports specifically on Al program change management.

B. Inquiring the management and obtaining documentation that management used to evaluate its own Al program
development controls.

C. Using the test data approach to test application controls by manually inputting a test data set.

Performing test counts of inventory for a shop or warehouse using Al for inventory management.

E. Comparing the gross profit margin ratio of the same entity over time and with those of competitors over the same
period.

o

When the auditor applies ISA 570 Going Concern in the audit, under which of the following scenarios shall the auditor
express an adverse opinion?

A. When a material uncertainty exists related to events or conditions that may cast significant doubt on the entity’s ability
to continue as a going concern,

B. When adequate disclosures about the material uncertainty are not made in the financial statements.

C. When events or conditions have been identified that may cast significant doubt on the entity’s ability to continue as a
going concern. ' -

D. When, in the auditor’s judgment, management’s use of the going concern basis of accounting in the preparation of the
financial statements is inappropriate.

E. When management is unwilling to make or extend its assessment of the entity’s ability to continue as a going concern
when requested to do so by the auditor.

. The international code of ethics for professional accountants lists several threats to compliance with the fundamental

principles. Which of the following is the threat that the mandatory requirements of audit partner rotation address?

Advocacy.
Self-review.
Self-interest.
Intimidation.

moOw

Independence.
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1. For each of the following audit strategies, explain with an example scenario why the auditor may/shall not express an
unmodified opinion. (F & 2 5 £ 4 &)

(a) In a new engagement, perform only substantive procedures—as opposed to both substantive procedures and tests of
controls—to collect audit evidence.

(b) In a continuing engagement, omit tests of controls because the client does not change control policies in the current
year AND the tests of controls in prior years yielded satisfactory results.

2. Emma Lee, a senior accountant, is planning to perform substantive tests on the client’s sales and receivables. To compare
records in shipping documents and those in sales invoices, she performed audit procedures using audit sampling. The
following is the sampling information:

Population is Shipping Documents Population is Sales Invoices

Total number of transactions : 2,000,000 1,000,000
Total recorded balance of transactions $ 3,896,383.83 $12,563,336.00
Parameters used in attribute sampling:

Population deviation rate (expected) 2% 5%
Tolerable deviation rate , 6% S 9%
Risk of overr.ehance (risk of assessing 504 504

control risk too low)
Risk of unr;lerrehance (-rlsk of . 59, -
assessing control risk too high)
Sample size 127 158
Sample deviation rate 1.57% 5.70%
Allowance for sampling risk 3.29% 4.03%
Upper limit rate of deviation 4.86% 9.73%
.| Rarameters used in variable sampling (monetary unit):

Risk of incorrect acceptance 10% 10%
Tolerable misstatements $292,229.00 $ 428,167.00
Expected misstatements $ 38,964.00 $ 188,450.00
Sampling interval $102,536.42 $ 66,826.26
Sample misstatements $5,576.52 $93,738.00
Projected misstatements $11,481.23 $ 105,692.76
Allowance for sampling risk $229,158.14 $ 158,307.59
Upper limit on misstatements $ 240,639.37 $ 264,000.35

Assume that all sales were on credit. Based on the above information, answer the following questions. (%K 4 4 #£ 8

)

(a) If Emma’s objective is to test the operating effectiveness of the control that all sales are recorded promptly after
shipping, what inputs does she need to compute the sample size? Choose the proper sampling method and population

and then list the names of the minimum inputs she needs.

(b) If Emma’s objective is to test the existence of ending accounts receivables, what would be her conclusion? Please

explain how she should reach the conclusion.
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